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[bookmark: _GoBack]Operations and Algebraic Thinking (3.OA.1) 

A school band is getting ready for a parade. There is a total of 36 children in the band. The children need to arrange themselves in rows. Each row must have the same number of children.

Choose the ways the children can arrange themselves in rows.

	Statement
	Yes or No
	Explain your thinking

	3 rows of 10 students




	
	


	4 rows of 8 students




	
	


	6 rows of 6 students




	
	


	7 rows of 5 students




	
	


	9 rows of 4 students




	
	


	16 rows of 2 students
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